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Answers – Chapter 2

(I)
Multiple Choice Questions

	1.
	C
	


	2.
	D
	


	3.
	A
	


	4.
	B
	


	5.
	D
	


	6.
	B
	


	7.
	A
	


	8.
	D
	


	9.
	D
	


	10.
	C
	


	11.
	D
	


	12.
	A
	Members do not inspect the accounting records – the auditors do this on their behalf.


	13.
	A
	


	14.
	B
	Item (2) is no longer required to be disclosed after the revision of HKAS 1.


	15.
	D
	


	16.
	B
	This is the most commonly seen form of the income statement, which includes cost of sales and distribution costs. Items (1), (3) and (5) are the nature of expenses, not its function.


(II)
Examination Style Questions

1.
A complete set of financial statements normally includes a balance sheet, [1 mark] an income statement, [1 mark] a cash flow statement, [1 mark] and those notes and other statements (e.g. statement of changes in equity) and explanatory materials that are an integral part of the financial statements. [1 mark]

2.
(a)

Accounting bases are the methods developed for applying fundamental accounting concepts to financial transactions and items. [1 mark]

Examples of matters for which different accounting bases are recignised include:

(i)
depreciation of fixed assets;

(ii)
treatment and amortization of intangibles, such as research and development expenditure, goodwill, patents and trademarks;

(iii)
stocks and work in progress;

(iv)
long-term contracts;

(v)
leasing and rental transactions;

(vi)
repairs and renewals.

This list is not exhaustive. [Any 3 examples @ 1 mark each]
(b)

Accounting bases are designed to provide an orderly and consistent framework for periodic reporting of an entity’s results and financial position. The significance of accounting bases is that they provide limits to the areas subject to the exercise of judgement, and provide a check against arbitrary, excessive or unjustifiable adjustments where no other yardstick is available. [1 mark]

However, accounting bases lacks regulatory powers:

(i)
Accounting bases do not, and are not intended to, substitute for the exercise of commercial judgement in the preparation of financial reports. [1 mark]

(ii)
It is not possible to develop generalized rules for the exercise of judgement, though practical working rules may be evolved on a pragmatic basis for limited use in particular circumstances. [1 mark]

3.
(a)(i)

Historical cost

Assets are recorded at the amount of cash or cash equivalents paid or the fair value of the consideration given to acquire them at the time of their acquisition. [1.5 marks] Liabilities are recorded at the amount of proceeds received in exchange for the obligation, or in some circumstances (for example, income taxes), at the amounts of cash or cash equivalents expected to be paid to satisfy the liability in the normal course of business. [1.5 marks]

Realisable value
Assets are carried at the amount of cash or cash equivalent that could currently be obtained by selling the asset in an orderly disposal. [1.5 marks] Liabilities are carried at their settlement values; that is, the undiscounted amounts of cash or cash equivalents expected to be paid to satisfy the liabilities in the normal course of business. [1.5 marks]

Present value
Assets are carried at the present discounted value of the future net cash inflows that the item is expected to generate in the normal course of business. [1.5 marks] Liabilities are carried at the present discounted value of the future net cash outflows that are expected to be required to settle the liabilities in the normal course of business. [1.5 marks]

Current cost
Assets are carried at the amount of cash or cash equivalents that would have to be paid if the same or an equivalent asset was acquired currently. [1.5 marks] Liabilities are carried at the undiscounted amount of cash or cash equivalent that would be required to settle the obligation currently. [1.5 marks]

(a)(ii)

The main advantages of historical cost are readily available measurement, objectivity and verifiability. [1 mark]

Circumstances under which the historical is combined with other measurement bases:

(i)
stocks and WIP are usually carried at the lower of cost and net realizable value;

(ii)
marketable securities may be carried at market value; and

(iii)
pension liabilities are carried at their present value.

The current cost basis is rarely used in practice and is not normally appropriate for financial statements prepared under the Companies Ordinance.

[Any two @ 2 marks each]

(b)

Income is an increase in economic benefits during the accounting period in the form of inflows or enhancements of assets or decreases in liabilities that result in increases in equity, other than those relating to contributions from equity participants. [2 marks]

Expenses are decreases in economic benefits during the accounting period in the form of outflows or the depletion of assets or incurring of liabilities that result in decreases in equity, except when they relate to distribution to equity participants. [2 marks]

(c)

There are two methods of accounting for construction contracts: the percentage of completion method and the completed contract method. Using the first method, profit is recognised as the contract activity progresses. [1 mark] Using the second method, profit is recognised only when the contract is completed. [1 mark]

If the total profit is recognised only on completion of the contract, it will bear no relationship to the operating activity in respect of the contract over the years in which it has been in progress. Hence the recognition of attributable profit during the period of a long-term construction contract has been recommended, despite the fact that this contradicts the prudence concept. [2 marks]

4.
(a)(i)

Accruals

The accruals concept is that revenue and costs are recognised as they are earned or incurred, not as money is received or paid. It also means that expense are recognised in the income statement on the basis of a direct association between the costs incurred and the earning of the related income (matching). [2 marks]

Example: Rent due but not yet paid is recognised as an expense of the period to which it relates and is set off against revenue for the same period. [1 mark]

(a)(ii)

Substance over form
When there is a difference between the real effect of a transaction (substance) and its legal form (form), the real effect should be recognised in the financial statements rather than the legal form, provided this is legally possible. [2 marks]

Example: An asset acquired on hire purchase terms will be recognised as an asset with an associated liability despite the fact that the legal ownership of the asset does not pass until the last instalment due under the agreement is paid. [1 mark]

(a)(iii)

Money measurement
The money measurement concept is that financial accounts can only recognize items capable of being expressed in monetary terms. [2 marks]

Example: Financial accounting can recognize a piece of plant or equipment but cannot recognize the expertise of the workforce of a business. [1 mark]

(a)(iv)

Consistency
The presentation and classification of items in the financial statements should be retained from one period to the next unless:

(1)
there is significant change in the nature of the operations

(2)
a change will result in a more appropriate presentation of events or transactions

(3)
a change is required by a new accounting standard. [2 marks]

Example: Depreciation rates should remain the same from period to period unless there is clear evidence that altered circumstances require them to be changed. [1 mark]

(a)(v)

Materiality
Information is material to the financial statements if its misstatement or omission might reasonably be expected to influence the economic decision of users taken on the basis of financial statements. [2 marks]

Example: The amount of an inventory write-down through obsolescence will only be disclosed in financial statements if material. [1 mark]

(b)

To be useful, information must be relevant to the decision-making needs of users. Information is relevant when it influences the economic decisions of users by helping them to evaluate past, present or future events or confirms, or corrects, their past evaluations. [2 marks]

(c)(i)

Information is reliable when it is free from material error and bias [1 mark] and can be depended upon to represent faithfully that which it either purports to represent or could reasonably be expected to represent. [1 mark]

Neutrality means that the information in financial statements should be free from deliberate or systematic bias. [1 mark]

Prudence means that a degree of caution is needed in making estimates required under conditions of uncertainty, so that assets or income are not overstated and liabilities or expenses are not understated. [1 mark] Prudence also means that revenue and profits are not included in the income statement until their realization is reasonably certain. [1 mark]

(c)(ii)

The potential conflict between the two is that neutrality requires freedom from bias while the exercise of prudence is a potentially biased concept since judgement is required. [1.5 marks]

In resolving the conflict, a balance should be found that neither overstates nor understates assets, income, liabilities and expenses. [1.5 marks]

5.
(a)

(i)
Materiality and aggregation. Items which are material need to be shown separately in the financial accounts. Amounts which are not material, can be added together and the sub total can be shown.

(ii)
Offsetting. Assets and liabilities should not be set off, unless it is permitted in a standard. This is because it hinders the users of financial statements understanding what the transactions are.

(iii)
Consistency. Transactions should be treated on a similar basis from year to year. Also, transactions of the same kind should be treated in the same way in each accounting period.

(b)

The going concern assumption is that an enterprise will continue in operational existence for the foreseeable future. This means that the financial statements of an enterprise are prepared on the assumption that the enterprise will continue trading. If this were not the case, various adjustments would have to be made to the accounts: provisions for losses; revaluation of assets to their possible market value; all non-current assets and liabilities would be reclassified as current; and so forth.

Unless it can be assumed that the business is a going concern, other accounting assumptions cannot apply.

For example, it is meaningless to speak of consistency from one accounting period to the next when this is the final accounting period.

The accrual basis of accounting states that revenue and expenses which are related to each other are matched, so as to be dealt with in the same accounting period, without regard to when the cash is actually paid or received. This is particularly relevant to the purchase of non-current assets. The cost of a non-current asset is spread over the accounting periods expected to benefit from it, thus matching costs and revenues. In the absence of the going concern convention, this cannot happen, as an example will illustrate.

Suppose a company has a machine which cost $10,000 two years ago and now has a net book value of $6,000. The machine can be used for another three years, but as it is obsolete, there is no possibility of selling it, and so it has no market value.

If the going concern assumption applies, the machine will be shown at cost less depreciation in the accounts (i.e. $6,000), as it will has a part to play in the continued life of the enterprise. However, if the assumption cannot be applied, the machine will be given a nil value and other assets and liabilities will be similarly revalued on the basis of winding down the company’s operations.

(c)

HKAS 1 is the standard whose overall objectives are to further the user’s understanding of financial statements by promoting an improvement in the quality of information disclosed. To achieve this it follows the principles and guidance in the Framework document by the HKICPA.

One of the ideas behind such a framework is to avoid the fire-fighting approach, which has characterized the development of accounting standards to date, and instead develop an underlying philosophy as a basis for consistent accounting principles so that each standard fits into the whole framework. Research began from an analysis of the fundamental objectives of accounting and their relationship to the information needs of accounts users. The framework has gone behind the requirements of existing accounting standards, which define accounting treatments for particular assets, liabilities, income and expenditure, to define the nature of assets, liabilities, income and expenditure.

HKAS 1 is a positive step towards the adoption of such a framework as it includes the basis for presenting the items in the financial statements in order to give the users of financial statements the maximum disclosure in a clear and understandable, neutral fashion.
6.
Slamometer Limited

Income statement for the year ended 31 March 2004

	
	$
	$

	Sales revenue
	
	1,013,000

	Cost of sales (W1)
	
	647,929

	Gross profit
	
	365,071

	Distribution costs (W1)
	224,271
	

	Administrative expenses (W1)
	67,920
	

	
	
	292,191

	Profit from operations
	
	72,880

	Interest receivable
	
	910

	Finance cost
	
	(3,110)

	Profit before tax (Note 1)
	
	70,680

	Income tax expense (Note 2)
	
	(32,870)

	Net profit for the period
	
	37,810


Notes to the income statement

Note 1

	
	
	$

	The profit before tax is after charging:
	
	

	Depreciation
	
	11,300

	Staff costs
	
	246,289


Note 2

	
	
	$

	Taxation
	
	

	Income tax at 25%
	
	32,000

	Tax under-provided in previous year
	
	870

	
	
	32,870


Note 3

Proposed dividend

The company proposes to pay an ordinary dividend of 15% for the year ended 31 March 2004.

W1 Classification of expenses

	
	Cost of sales
	Distribution
	Administrative expenses

	
	$
	$
	$

	Distribution costs
	
	152,571
	

	Raw materials
	366,238
	
	

	Manufacturing overheads
	159,302
	
	

	Staff costs
	98,789
	56,400
	

	Directors
	12,300
	15,300
	63,500

	Depreciation
	11,300
	
	

	Office rent
	
	
	2,300

	Audit
	
	
	1,500

	Legal and accountancy
	
	
	620

	
	647,929
	224,271
	67,920


Slamometer Limited

Statement of changes in equity for the year ended 31 March 2004

	
	Share capital
	Share premium
	Plant replacement reserve
	Accumulated profit
	Total

	
	$
	$
	$
	$
	$

	Balance at 31 March 2003
	110,000
	6,100
	40,000
	51,700
	207,800

	Net profit for period
	
	
	
	37,810
	37,810

	Dividends paid in year:
	
	
	
	
	

	Preference
	
	
	
	(3,360)
	(3,360)

	Ordinary
	
	
	
	(13,200)
	(13,200)

	Transfer
	
	
	10,000
	(10,000)
	-

	Issue of share capital
	15,000
	4,500
	
	
	19,500

	
	125,000
	10,600
	50,000
	62,950
	248,550
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